
  

  RR (A)  -  1114    

I. 

 8 × 1 = 8 

1. y = p ( x )  

 

 (A) 3 (B) 5 

 (C) 4 (D) 2 

2.  26tan26sec 22    

 (A) 
2

1
 (B) 0 

 (C) 2 (D) 1 

3. ABC   DE || AC   

 

 (A) 
BE

BC

DE

AC

AB

BD
  (B) 

BC

BE

AC

DE

AB

BD
  

 (C) 
EC

BE

DE

AC

BD

AB
  (D) 

EC

BE

AC

DE

BD

AD
  



4. 

360 cm3   

 (A) 120 cm3
 

 (B) 180 cm3  

 (C) 90 cm3
 

 (D) 360 cm3  

5. x + 2y – 4 = 0    2x + 4y – 12 = 0  

 (A) 

 (B)  

 (C) 

 (D)  

6. n 23  na
n   9  

 (A) – 25 

 (B) 5 

 (C) – 5 

 (D) 25 



  

7. P ( A ) = 
3

2
    AP   

 (A) 
3

1

 

 (B) 3 

 (C) 1 

 (D) 
2

3
 

8. 7  

 (A) 154 

 (B) 616  

 (C) 616 

 (D)  308  



81-K 2 CCE  RR  

  RR (B) - 1542   

I. 

 8 × 1 = 8 

1. A = { a, b, c, d, e }    B = { a, m, n, d  } A   B  

 (A) { a, d, e } 

 (B) { m, n } 

 (C) { a, d } 

 (D) { a, b, c, d, e, m, n } 

2.  

 (A) – 1 

 (B) 0 

 (C) 
2

1

 

 (D) 1 

3. 20  

 (A) 142 

 (B) 210 

 (C) 254 

 (D) 310 



CCE  RR  3 81-K 

  RR (B) - 1542   [ Turn over 

4. 
2

Pn  = 90 n   

 (A) 8 

 (B) 9 

 (C) 10 

 (D) 12 

5. 1  6

 

 (A) 
6

1

 

 (B) 
6

2
 

 (C) 
6

3

 

 (D) 1 

6. 5 6   

 (A) 11 

 (B) 26 

 (C) 30 

 (D) 42 



81-K 4 CCE  RR  

7. p ( x ) = 523 2  xx  p ( – 1 )  

 (A) 4 

 (B) 6 

 (C) 8 

 (D) 10 

8. y- P ( 3, 4 )  

 (A) 3 

 (B) 4  

 (C) 5 

 (D) 7  


	1K
	2k

